Simplifying Expressions (F)

Simplify each expression.

—6c+c?—6x+4ex—x+1 6.c—cx—4—1—-1-5c¢
y—ut+5—1—y+y 7. —6uv +v—v4v: —2 —2u?
11431 — 6bu— 5 8. 1—y" —y+4y+4y° +1
643y +6y —y  —y 4y 9. a®+1—2a+6b—3b*—a*
—a+u+1+5+au—d* 10. c+1—x*+145x> +6¢2
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Simplifying Expressions (F) Answers

Simplify each expression.

—_—

—c?+tdex—6c—Tx+1

2. y—uwr+5—1—y+y
= —u+y—+4

—14+14+3—1—6bu—5u°
— —6bu—5u*+2

W

4. 643y+ 6y —y* —y* +y
=4y* +4y+6

—a+u+1+5+au—a’
—au—a’—a+u+6

e

—6c+c?—6x+4dex—x+1

6.c—cx—4—1—1-5¢
=—cx—4c—6

7. —6uv+v—v-+1>—2—2u?
= —6uy+v:—2u>—2

8. 1—y* —y+dy+4y* +1
=3y*+3y+2

9. a>+1—2a+6b—3b>—a°
= —3b>—2a+6b+1

10. c+1—x>+14+5x*>+6c2
= 4>+ 6% +c+2
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